B2

She studied hard she passed the exam.

Answer:

He is both funny intelligent.

Answer:

| will go to the park it stops raining.

Answer:

He didn't invite me he knew | couldn't come.

Answer:

| want to eat cake | shouldn't because I'm on a diet.
Answer:

She is not only a great singer a talented dancer as well.
Answer:

She didn't like the movie she didn't understand the storyline.
Answer:

He can play the piano the guitar.

Answer:

She is tired she can't go to the party.

Answer:

| will buy popcorn we can watch a movie tonight.

Answer:




Answers

She studied hard she passed the exam.
Answer: so

He is both funny intelligent.

Answer: and

| will go to the park it stops raining.

Answer: if

He didn't invite me he knew | couldn't come.

Answer: because

| want to eat cake | shouldn't because I'm on a diet.
Answer: but
She is not only a great singer a talented dancer as well.

Answer: but also

She didn't like the movie she didn't understand the storyline.

Answer: because

He can play the piano the guitar.

Answer: and

She is tired she can't go to the party.

Answer: so

| will buy popcorn we can watch a movie tonight.

Answer: so that



